[T gfea gt & w15

. | -fr"f .I'[-"‘t’” : 1?] .
a [Total No. of Printed Pages : 15

'I ol MO oof Questions 17]

C-232410-B
fd9a - N fdg= % aeq vad 1M

Subject : Elements of Science and

Mathematics for Agriculture

3 @) ot 75
Time : 3 Hou' | [Maximum Marks = 75

e () ™ T D D
Note : Attempt all quastions.
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Internal options are given in Question Nos. 8 to 17.

e -

tm)mm1mﬁﬁtsm§|_sﬂﬁﬁamg§|@vgta)ﬁagﬁmﬁam,m

@ & Res i &t off an we7 @ wos () F 9@ G e o v E e

W05 {5 0§ AU TS 0 R 1 3@ sndiea |
Instruction :

(A) Question No. 1 is an objective type question. It has three sections. In Section
(A) Muitiple choice questions, in Section (B) Fill in the blanks and in Section (C)
Match the following are given. Each section has 5 questions. Each question

carries 1 mark.
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(@us-31)

(Fgfawedia we)
Section-A

(Multiple Choice Questions)
o fameq grax foRau -
Choose and write the correct option :
() DS T I & :
(37) NH; CO NH,

(@ NH, CO NH,
() CH, ON H,

(& NH, OH NH,

Molecular formula of carbamide is :
(@) NH; CO NH,

(b) NH, CO NH,

(c) CH,ON H,

(d) NH, OH NH,

1»5=§
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(3)
Mex 1 N e e wen F A &

(31) P B JfRTED
(@) aifiYs=
(@) A=

(@ TR FHEE

Gobar gas contains the highest amount of :

(@) Carbon dioxide

(b) Oxygen

(c) Methane

(d) Hydrogen sulfide
sefiaee ¥ e o= e 8
(3 21 foelr SR

(§) 38 feel S

(@) 673 fbar HEAR!

(@ 763 foelr PRI
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Aerobic respiration produceg energy
(a) 21 K calories
(b) 38 K calories

(c) 673 K calories

(d) 763 K calories

(v) dtelt Ft g o FRBT 3 aen gapt @

(31) siffea
() efyes
() foetas
@ ¥ 9 & T8

The substance that regulates plant growth s
(@) Auxin

(b) Ethylene

(c) Gibbereliin

(d) None of these
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(V) fﬁﬁﬁwmﬁmﬁﬁﬁ%%

(31) Aer B

(@) W el

(@) @B el

(@) omgfERT P

Stamen pistil is found in the plant :
(a) Solanaceae family

(b) Malvaceae family

(c) Cruciferae family

(d) Leguminoceae family

(@us-9)
(Rep AT & i)
Section-B
(Fill in the blanks)

ge-1. s wE @ uid i

Fill in the blanks :

1%x5=5
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(6)
(1) .'H'Lfm?hm By bl Wf]?‘[ ﬁﬁ'ﬁm
The person to use the term ‘Genetics' for the first time is

iy &t ed e At e ameiis A A &
The production of seedlosg frults Is due to the technique of
ok -
(iif) @ foper it @ 5T Sy Wit W n o2 #

Respiration takes place In the of each living plant cell;

(v) SRR T BT D R ey #

Harmful insect for the Crop of the order Orthoptera |g )
(v) weprdr @ < @l SR (5 LR B mltﬁr ]

The queen bee lays about ~——— €ggs in her lifetime (5 years).

(Woz-g)
(Wt A FrE)
Section-C
(Match the following)
-1 8 R seEe 1x5=5
LoL - w4 |
(i) faefm c (3 g m
(iy fef= D (@ A oo
(i) fefm E (W) sffaem
(iv) @ @ R gt
(v) e (@) S




(7)

Match the following :

Column ‘A’ Column ‘B’
()  Vitamin ¢ (a)  Rickets
(i)  Vitamin D (b) Malvaceae family
(i) Vitamin E (c) Aonla
(iv) Cotton (d)  Leguminosae family
(V) Groundnut (e) Sexual disease

) W BAD 2 ¥ 7 A Ay o 3e0a v 31 RS S W 2 37 amEfd ) I
I A s a0 v §
Instruction :

. o
(B) Question Nos. 2 to 7 are very short answer type questions. Each questio

carries 2 marks. Maximum word-limit of answer is 30 words.
(ifer 7 IAA 9)
(Very Short Answer Type Questions)

yeH-2. W @ @2

What is Protein ?

P.T.O.
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w93, BeImET fbd @Ed @ ? 2

What is Hydrocarbon ?
We-4.  UB GG @ T 6 HeX AR Eel 4 WX & 3w dyew aw A 2
Find the area of a rectangle whiéh has 6 meter length and 4 meter width.
We-5. Uo-9ax Y 59 dEq &7 2
What is Mono-hybrid Cross ?

2
HeT-6, ulRy g\ @ &

What is Plant Hormone ?

g7, RO gt & >

What is Silk ?

(?r)mamims@rmaaagaﬂﬂamﬁmuWW4msmﬁa%“lmaﬁ

Sfeream s 75 ue @)

Instruction :
(C) Question Nos. 8 to 12 are short answer type questions. Each question carries

4 marks. Maximum word-limit of answer is 75 words.
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(9)
(77g I )

(Short Answer Type Questions)

WE-8. U g @ wra 28 Mew ) qa @ oRfe vd eEea S Galfglef

Iz

Diameter of a circlo is 28 moter. Calculate the circumference and area of this

circle.

sigar / OR

o BYSTeR A & st 26 Aex, 28 AR 3R 30 AR 1 @I e T B

A triangular field area has arms as 26 meter, 28 meter and 30 meter. Calculate

the area of it.

o9, Fr=foRea wrol & wer e & om0
an 0-20 20-40 40 60 60 80 80 -100
srgfa 2 7 10 3 3

Calculate the arithmetic mean from the following table :

Class 0-20 20-40 40-60 60-80 80-100

Frequency 2 7 10 3 3
3yar/ OR

Frafofaa afcr & wiftger & momT B :

it 5-10 10-15 15-20 20-25 25-30
SRERAT 5 6 15 10 5

Calculate the median from the fo!lowing' table :

Class 5-10 10-15 15-20 20-25 25-30

Frequency 5 6 15 10 5
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we-10.

HZT-11.

B¥a-12.

(10)

o ?
wnmmwﬂaaﬁmqﬁm&%mﬁa@@“‘m
4

J'\"“'.(e[ -? .'“Il'\{ f‘]i‘ir'*l

is different
why Mendel had solocted poa as experimental material for his di
y

experiments 7 (Any four reasons)

Jruat/ OR

TET S B B R "Ew ffae

Write any four importance of Plant Breeding.

A BT B ggEHE d P IR W wawr ofear U8 Q9 ARG 6 2+2=4

Write any four specific identity characteristics of Malvaceae family and draw a

floral diagram.
3=ar/ OR
ﬁﬁwﬁw%ﬁémﬁ%a&w%ﬁuuﬁg@mm|
Write any four specific identity characteristics of Cruciferae family and draw a

floral diagram.
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(11)
Write any four differences between Real and Virtual Spectrum.
AYar/ OR

i AR BT g W B uR s faifao

Write any four differences between Petrol and Diesel Engine.

(@) D 13 04 14 o iy ge &) A W W 5 I amfed &1 IR A

HRIBT =R 150 gz 2

Instruction :

(D) Question Nos. 13 and 14 are short answer t?pe questions. Each q'ﬁes'tion cain;ei

9 marks. Maximum word-limit of answer is 150 words.

(g 3w’ we=)
(Short Answer Type Questions)

wa-13.  Fefofea arol & wiRaer ¥ aeg Reew a9 S 5
aif 0-10 10-20 20-30 30-40 40-50

st 5 8 15 16 6

Calculate the Mean Deviation from Median with the following table :

Class 0-10 10-20 20-30 30-40 40-50
Frequency 5 8 15 16 6
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3yar / OR

fFrefefaa ardy & ages s S

it 0-15 15-30 30 45 45-60 60-75
angf 2 3 5 10 7

Find the mode from the following table ;

Class 0-15 15-30 30-45 45-60 60 -75
Frequency 2 3 5 10 7

"e-14, w-%gaﬁaéaaﬁén‘r“ram%ﬁam 5

Write any five uses of photo-electric cell.

Write in brief any five electricity apparatus usually used in houses.

(3) mmasw%fwaaséﬁaﬂﬁum%lmmwsmmﬁﬁ%lm
a%’raf‘amma-ﬁm%ow%‘l

Instruction :

(E) Question Nos. 15 to 17 are long answer type questions. Each question carries

6 marks. Maximum word-limit of answer is 250 words.
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H¥-16.

(13)

(& Ferdra )

(Long Answer TyP€ Questions)

Sta-TH B P w: wee [t
Write any six importances of bio-chemistry.
aera / OR
Rova % R s qRfefl o1 @ ATl (@8 B)

Describe suitable conditions for fermentation. (Any six)

GRS B T v A A e qur s AR B §0 Bl & SR
W fBd ar @if @ wedg & gof Sw 2+4=6
Write the order and scientific name of Honeybee and describe in brief any four
sections of worker bees.

Syar/ OR

W DT B W7 6 S5 T faRar dor [ e O gR) Seal & |ed ®

aulg @ifsm|

Write the order and scientific name of Silk Worm and describe in brief four

species of Silk Worm. https://www.cgboardonline.com
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WWWW$MWW%WWW:Z+“2H=G

1.
(3 Regra
(@) mited fod
() e Aol
(@) waelR (@% @)

Write the verification of Law of Reflection by plane mirror on the following

heads :

(@)  Principle

(b)  Labelled diagram

(c) Observation table

(d)  Precautions (any two)

Jear/ OR

foeerT AR @ avi e ol ¥ ot

() HIET

(¥  Tmifed o
(W) ®E fafe

(@ Imm (P )
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Describe D.C. Motor on following heads :

(a)

(b)

(c)

(d)

Structure
Labelled diagram
Functional method

Uses (any two)

(15)
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